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5. Geogebrd*«:}@%] »

alt- = -> not equals alt-m -> mu

alt- + -> plus or minus alt-o -> degree sign

alt-- -> superscript minus alt-p -> pi

alt-< -> less than or equal alt-s -> sigma

alt-> -> greater than or equal alt-t -> theta

alt-, -> less than or equal alt-w -> omega

alt-. -> greater than or equal alt-0 -> to the powfed
alt-a -> alpha alt-1 -> to the power of 1
alt-b -> beta alt-2 -> to the power of 2
alt-d -> delta alt-3 -> to the power of 3
alt-e -> Euler e alt-4 -> to the power of 4
alt-f -> phi alt-5 -> to the power of 5
alt-g -> gamma alt-6 -> to the power of 6
alt-u -> infinity alt-7 -> to the power of 7
alt-i -> constant representing sqrt(-1)  alt-8 -the power of 8
alt-l -> lambda alt-9 -> to the power of 9




0. ;l;g;ﬁ;f])\

aGeoGebra - S ¥ L AR E KV Tdg £ 2] ) R E B~ S B =
s @R TEntelEd 7 Nt o T A 5 ﬁjgxg,;;ug;;];\ =k

ERE 1Y BRI - I 4 7R (W~ % 2 14 Entert 7)
L AL, 2) A=(1,2)

TFEeFEA A RFAHE
S P[2,30°] P=(2:30°)

TEepE A BF*FEg
i B(2+3) B=2+3i

AR RF A R
wE (LA T) [ Vv=(13) V=(1,3)
COA ] BFARER

v B (L L T) ofl, ;_31] p=(1;alt-p/3)

v ERLELT) | g=-1+2 g=-1+2i




A RE T XY R

I B (F ~ B8 N dn & PUGE S (B~ % 2 2 [Enterit 7)
EE BFGFF)REx v RN fL S EERE
% () a=5x3+ 201z a = 5+3+2012
i (M 4) (2,3)1-3,2) (23)(3.2)
iz (3 ) (2+3)x(3-12) (2+3i)*(3-2i)
RS 5! 5|
Podighanx 4 | B EE Pax ik x(P)

B gy k| BedigE Pepy iR y(P)

% ¥ B atk R D T B Div[a,b]

& (k) Kot ark 11 R H b i Mod[a,b]
AN S lca® b ek < 2 Flik GCDIa.b]
ol o2 EHcad Bl bk | o Bk LCM[a,b]
B¥E |-23] abs(-23)

it f B P EY) sgn()

5L sqrt()

= XA cbrt()

0 3] 1 e hg#s #ic random( )

arp bergisi

Flcad FHcb 2 g i

Randombetween(a,b)

ip ik 2x 2™
ip e i e" exp(x)
(e s &) 0
(1 2 5 &) 1d()
HH(7 10 5 &) i90)
it 5% S ik sin()
iz o i cos()
Tk tan()
A7 S i cot()

10




NI IR sec()

L] ik csc()
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Simplify[f(X)]

it x+2x+3x

Simplify[x+2x+3x]
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@t 1=5> t 2=5- t 3=1> t 4=1
u=Vector[(t_3,0),(t_1,0)] v=Vector[(0,t_4),(0,t_2)]
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@ fy(x)=-2" : f_3(x)=—2"x & f_3(x)=—f_1(x)
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® f (x)=2": f_6(x)=2"abs(x)
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@ fy(x)=n*: n=2- f_9(X)=n"x
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(2) #t e i
@ f(x) =log, x : f_1(x)=Id(x)* f_1(x)=Ig(x)/lg(2)
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@ f,(x) =logx : f_2(x)=Ig(x)
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@ f,(x)=¢nx : f_3(X)=In(x)
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@ f,(x) =log;x * f_4(x)=lg(x)/Ig(3)
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® f.(x)=log,(-x) : f_5(X)=ld(—x) f_5(x)=f_1(—x)
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® fi(x)=-log,x : f 6(X)=—Id(x)z f_6(x)=—F_1(x)
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@ f,(x)=-log,(-x) : f_7(x)=—Id(—x) f_7(x)=—Ff_1(—x)
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@ f,(x) =log, |x | : f_9(x)=ld(abs(x))
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fo(X) =log, x * f_{10}(x)=Ig(x)/Ig(1/3)
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@D f,(x) =x*—4x*+2x+ 3 :
f 1(X)=x"3-4 x"2+2 x+3> Max[f_1, -1,2]> Min[f_1, -1,2]
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@ f(x) =—x*-2x*+3x - 4,-4<x< 3
f(X)=x"3-2 x"2+3 x—4 > f_2(x)=Function|[f,-3,1]>

Extremum[f_2} InflectionPoint[f_2]
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©) f3(x)=—%x2+3x+4,as X<p:

alt+ta=-3 alt+b=2> g(x)=—(1/3)x"2 +3 x+1- f_3(x)=Function[gg , ]

1Lk o Al :

" B

A gl)=-(113)x+3x+1 @

@ f,()=x":

n=2> f_4(x)=x"n
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® x-y=3:
x—y=3 ¢ y=x—23 g¢ y+ 1=tan(alt- p/4)(x—2)

m
Iﬂﬂﬂﬂﬂﬂ\é\\\l |l 4] vw
A f @

® y-2=tand (x-1):
alt-t=30 alt- o0 > y—2=tan(alt-t)(x—1)

"2 GeoGebra R o = |
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@ # i ABCDw 2 % 38 e f(x)
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4) = & suiic
@ f,(x) =sinx : f_1(x)=sin(x)

BERNO END SO0

wh

@ f,(x) =cosx : f_2(x)=cos(x)

T I M TS B TE W WY
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@ fy(x) =tanx : f_3(x)=tan(x) = f_3(x)=sin(x)/cos(x)
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@ f,(x) =cotx :

© GeoGebra

f_4(x)=cot(x) & f_4(x)=1/tan(x)
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® f(x)=secx : f 5(x)=sec(x}* f_5(x)=1/cos(x)

(b ol Al wm

® fs(x)=cscx : f_6(x)=csc(x} f_6(x)=1/sin(x)
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@ f,(X)=sinx,~m<x< 27

g(x)=sin(xy f_7(x)=Function[sin(x),- alt-p,2 alt+p]
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fo(X) =sin|x : f_8(x)=sin(abs(x))
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@ fy(x) =|sinx | : f_9(x)=abs(sin(x))
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f,,(X) =sinx+~/3cosc : f_{10}(x)=sin(x) + sqrt(3)cos(x)
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B Ll oIl =l(e] oo 3

@ f,(x)=asinx+bcosx+c :

a=1 b=2- c=3> f _{11}(x)=a sin(x)+b cos(x)+c
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@ f,(x)=sin(2x) :
f {12}(x)=sin(2 x)
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@ f(x)= cosg) :

f {13}(x)=cos(x/2)

I A e T W 9
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F =z & o f,(X) =sin x ; f_{14}(x)=asin(x)
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(5) @ Hie Sv&f(x)——|x+1|+ X -

f_l(x):(1/2) abs(x+1)+abs(x-3)
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{—x,x <0
f,(x) =

x?,x=0

f 2(x)=If[x <0, -x, X"2]
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(6) B #randic
@ f,(x)=[x] ; f_1(x)=floor(x)
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= ==

(1% @ 1wl fE PR 1A We B |

‘H DENEopENEEBED -
Ec-

wknmsequ@@.m@ @ + |8

@ f,(x) =[x] 5 f_2(x)=ceil(x)
list 2=Sequence[(k,k+1),k,-5,10]

© GeoGebra T (=[5
fe% ‘i!s iR ﬁE: Elﬁ I8 ﬁﬁ W = :

C [ >elo)lalNe] ][ +] s» 2
i c -

A \H @: @

(7) % & fr&2 5 f#

D f,(x) = %2, j: x2dx 5 £ 1(x)=x"2 > R=Integral[f_1,0,2]

& ceooetrat MBS IE L W Lo~ hacd =5
R R R NS R TR WE |
| [ = o7 [ 2 N 1 R -

2
D -

29



@ 22 > FHF % n> 3£ 4= Integral,Upper Sum,Lower Sum
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® fy=x2g y=x+17 5% 55 4
L:g_1(x)=x+1

Intersect[f_1,9]

Integral[g,f_1,x(A),x(B)]
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f_2(x)=x(x-1)(x-2)

9_2(x)=0

Intersect[f_2,g_2]
IntegralBetween[f_2,9_2,x(C),x(E)]
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(8) = = v &

DT, :y*=4x : alt+shift+g_1:y alt+2 =4%‘ Parabola[(1,0),x=-1]
B —————
'%ﬁg%?ﬁﬁﬁmﬁﬂl

@l

B
|

HiA

Qr,:x?

:—8y :
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Hyperbola[F,F,a b Hyperbola[F,F’,P]
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@D T —y? =22 8 brig s ¢

alt+shift+g_7:x"2-y"2=2 > Asymptote[alt+shift+g_7]
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(x=27  (y=3° _. .
@ C,: s T =1:

C_2: Curve[2+3 cos(t),3+2 sin(t),t,0,2-aft]
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6. 3D Atk a2
DmésRFFa,03360 > #E 1
(2) & R ¥ F,005360 > HE 1
() EE - B OiT 5 T AL 4 kgL
(4) i® gk X_{unit}=0O+(cos(a ),sin(a )cos(8))
(5) T2 Y_{unit}=0+(-sin( « ),cos(a )cos(5))
(6) iT2: Z_{unit}=0+(0,sin(p))
(7) '¥» & u=Vector[O,X {unit}]
(8) iTw & v=Vector[O,Y_{unit}]
(9) iTw & w=Vector[O,Z_{unit}]
(10) ‘Pl iEif % L #F 5 13 10> # £ 5 1
(11) i=» & a=Vector[O-L*u,O+L*u]
(12) it & b=Vector[O-L*v,0+L*V]
(13) ' & c=Vector[O-L*w,0+L*w]
14)4&» = 3 x> =% O+Lu
(15)#& » >z y> =% O+Lv
(16)4&E»>» = 3 z> =% O+Lw
(17) i* % :#35 Polygon[O+L u+L v,0O-L u+L v,0-L u-L v,O+L u-L v]
(18)7 FEf= t Hizw &, B tkih Xy T &
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